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NV ITON NPIRDY NPHNINIINT MINNIVNA

(a,b,ce R) ay+hy+cy=0 D¥Ip DNTPN DY NPMMN NPINYY MNNIWA . |

ar? +br+c=0 o NNNWN
Hr,r,eR I #r,=>y=Ce™ +C,e?
2, neR h=r=r=y=Ce™+C,xe"”
a,feR, I, =at pi=y=e“"(C,cosfx+C,sin fX)

y'+4y'=0 :ma 1 pont
Yy =0=r°+4r=0=r=0r,=-4=y =e"* =1y, =e* =y=C, +C,e ™"

y'+4y'+4y =0 :no 2 pont
YAy +4y =012 +4r+4=0=r1, =2y, =y, =xe X = y=Ce ¥ +C,xe >

y'+4y'+13y =0 : o 3 npnT

y'+4y' +13y=0=r’ +4r+13=0=r1, =2+3i=a=-2,f=3=

2 2

y; =€ 2* cos3x,y, =e 2*sin3x = y =e ?*(C, cos3x+C, sin 3x)

Y'4+p(X) y+g(x) y = f(X)  DYMNMIN NI NPIRDY MXNIWA. I
: TPNNYIIN DOV
RNWNY MY NS BXR Y HP(X) Y+g(X) y =0 naxnwnd 955 pans y=Cy; +Coy, v oM
nIPNAN WRD Yy=M(X)y; + N(X) y, nmxa wamy y"+p(x) y+g(x) y = f(x)
M"y; +N"y,; =0
M"y; +N"y3 = f(x)

} n5wNNN Hapd 1 M (x), N(X)

ay"tby+cy=f(x) DPMMN KXY NPINPY mxnwn I
.DNTPHN ANNWD NOOY

f(x) = e?* (P, (x) cos A + Q; (x)sin /),
P (x) =apxX +a;x* T+ +a,, Q(x)=byx' +bx't+... kb
: 11X IPNIMN XY IRNWNAY Y079 PNIND WON 1N
Yo (X) =e°‘x[(A0xn + AX" 4 A cos B+ (Box" + Bx" +---+ B, )sin ﬂx]xS

n =max(k,I)

DN

ar?+br+c=0 mmax nxnwny (a + i) vnw Swndnn S
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=0,4=0
1)a 'B ) =agx" +apx" 4 ra, =y, = (AXT + AXT e+ A XS
a+ pi=0

=0
2) 'é_ } f(x)=e"(apx" +a,x" +-+a )=y, =e“ (A" + AX" 4+ A)XE
a+pfi=a

a=0

3)a+ﬂi:ﬂ|

}, f(x) =P (x)cos Sx+Q, (x)sin fx=y, =(M(x)cos A+ R, (x)sin ﬂx)xS

—3X

y"+3y'=e

(Bxcos4x + 7sin4x) 4 npn7T

f(x)=e X (8xCos4x + 7sin4x) = a + fi = -3+ 4i

n=1, Y, =€ > ((Ax+ B)cos4x + (Mx + D)sin 4x)
y"+2y' +2y=3e"* cosx 5nont
f(x)=3e " cosx=a+fi=-1+i = Yy, =€ “(Acosx+Bsin x)x

n=0

y'"+9y’ =8x + x%e ¥ —1 6 nonT
f(x)=8x—x’e* 1= f(x)= f,(X)+ f,(x), f,(x)=8x—-1, f,(x)=-x%e""
yp = ylp + y2p

rl =0, r2’3 = igi,
=
f,(X)=8x-1=a+ =0

= Ypp = (AX+B)x
n=1
rl :O, I’2’3 :iBi,

__y2,-3x _ =35=0 (M 2 N D -3x
f,(x)=—x’¢> =a+fi=-3 = Yzp =(Mx"+Nx+Dje

n=2
D2 N
MXNWHNN AR NN9 . |
2
1)2y"+5y'~3y =0 42X 9%
dt?2  dt
n ’ ’ dzs !
2)y"-8y'+16y=0,y(0)=1,y'(0) =3 5)—2+95:O,s(0):2,s(0)=1
dt
2
3)y"r 2y’ +5y =0 6)d—';+1oﬂ+25r=o
do do

mMNNYNN NN NS . I
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D)y"+y=4xe” 4) y"+ 4y =5c0s 2t
z)y"_sy'zsxz +sin5x 5)y"—9y:12e3t —6sin3t

3)y"+2y'+y=xe ¥ ,y(0)=1,y'(0)=0 6)xy"-2xy'+xy=e"

N 1
Ny +y=—
sin x
)y=Cre ¥+, el 4)x =Cy +C,e™
2)y =e**(1-x) 5)s:Zcos3t+%sin3t
3)y = e *(Cy cos2x + C, sin 2x) 6)r = (C,+C, p)e?

1)y =Cycosx +C, sinx + (2x — 2) e*

2)y = Cy +Cre>* —0.2x3 = 0.12x% — 0.048x + 0.02(C0s 5X — Sin 5x)

3
)y=e"* [1+ X +%J 4)y = C; cos2t +C, sin 2t +1.25t sin 2t

5)=Cye3 + Cpre 3t + 2te™ +%sin 3t 6)y =e*(xIn| x| +C; +C, X)

7)y =(-x+Cy)cosx+(In|sin x| +C,)sin x

0N NNDING

: MAWN
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